

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





# State of West Virginia Solicitation Response

Proc Folder: 1741827

Solicitation Description: Adobe Software Products (81260009)

Proc Type: Central Master Agreement

 Solicitation Closes
 Solicitation Response
 Version

 2025-08-14 13:30
 SR 0803 ESR0814250000001011
 1

**VENDOR** 

VS0000047401

**Tech Advanced Computers** 

Solicitation Number: CRFQ 0803 DOT2600000006

**Total Bid:** 401640 **Response Date:** 2025-08-14 **Response Time:** 12:01:05

Comments:

FOR INFORMATION CONTACT THE BUYER

John W Estep 304-558-2566 john.w.estep@wv.gov

Vendor Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Aug 15, 2025 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Adobe Creative Cloud All Apps - new license	5.00000	EA	950.000000	4750.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - new license

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Adobe Acrobat Pro DC - new licenses	30.00000	EA	138.000000	4140.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.2 Adobe Acrobat Pro DC - new licenses

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Adobe Stock(10 Assets) - new license	2.00000	EA	262.000000	524.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.3 Adobe Stock (10 Assets) - new license

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Adobe Photoshop CC - new licenses	4.00000	EA	395.000000	1580.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.4 Adobe Photoshop CC - new licenses

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Adobe Premiere Pro CC - new licenses	2.00000	EA	395.000000	790.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

Date Printed: Aug 15, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

#### **Extended Description:**

3.1.6.5 Adobe Premiere Pro CC - new licenses

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Adobe Creative Cloud All Apps - new license, Yr 2	5.00000	EA	1140.000000	5700.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - New License, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Adobe Acrobat Pro DC - new license, Yr 2	30.00000	EA	166.000000	4980.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.2 Adobe Acrobat Pro DC - new license. Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	Adobe Stock (10 Assets) - new license, Yr 2	2.00000	EA	314.000000	628.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.3 Adobe Stock (10 Assets) - new license, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Adobe Photoshop CC - new license, Yr 2	4.00000	EA	474.000000	1896.00

acturer Specification	Model #

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.4 Adobe Photoshop CC- new license, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Adobe Premiere Pro CC - new license, Yr 2	2.00000	EA	474.000000	948.00

Date Printed: Aug 15, 2025 Page: 3 FORM ID: WV-PRC-SR-001 2020/05

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Extended Description:**

3.1.6.5 Adobe Premiere Pro CC - new license, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Adobe Creative Cloud All Apps - new license, Yr 3 $$	5.00000	EA	1140.000000	5700.00

Comm Code	Manufacturer	Specification	Model #	
43232100				
1.0202.00				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - New License, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Adobe Acrobat Pro DC - new license, Yr 3	30.00000	EA	166.000000	4980.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.2 Adobe Acrobat Pro DC - new license. Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	Adobe Stock (10 Assets) - new license, Yr 3	2.00000	EA	314.000000	628.00

Comm Code	Manufacturer	Specification	Model #
43232100			

#### **Commodity Line Comments:**

# **Extended Description:**

3.1.6.3 Adobe Stock (10 Assets) - new license, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Adobe Photoshop CC - new license. Yr 3	4.00000	EA	474.000000	1896.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

# **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.4 Adobe Photoshop CC- new license, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Date Printed: Aug 15, 2025 Page: 4 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Adobe Premiere Pro CC - new license, Yr 3	2.00000	EA	474.000000	948.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Extended Description:**

3.1.6.5 Adobe Premiere Pro CC - new license, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	Adobe Creative Cloud All Apps - new license, Yr 4	5.00000	EA	1140.000000	5700.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - New License, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	Adobe Acrobat Pro DC - new license, Yr 4	30.00000	EA	166.000000	4980.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.2 Adobe Acrobat Pro DC - new license. Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
18	Adobe Stock (10 Assets) - new license, Yr 4	2.00000	EA	314.000000	628.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.3 Adobe Stock (10 Assets) - new license, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
19	Adobe Photoshop CC - new license. Yr 4	4.00000	EA	474.000000	1896.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

Date Printed: Aug 15, 2025 Page: 5 FORM ID: WV-PRC-SR-001 2020/05

#### **Extended Description:**

3.1.6.4 Adobe Photoshop CC- new license, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
20	Adobe Premiere Pro CC - new license, Yr 4	2.00000	EA	474.000000	948.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.1.6.5 Adobe Premiere Pro CC - new license, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
21	Adobe Creative Cloud All Apps - Renewal, Yr	30.00000	EA	1140.000000	34200.00
	2				

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.1 Adobe Creative Cloud All Apps - renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
22	Adobe Acrobat Pro DC - Renewal, Yr 2	425.0000	0 EA	166.000000	70550.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.2 Adobe Acrobat Pro DC - Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
23	Adobe Stock (10 Assets) - Renewal, Yr 2	5.00000	EA	314.000000	1570.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.3 Adobe Stock (10 Assets) - Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
24	Adobe Photoshop CC - Renewal, Yr 2	10.00000	EA	474.000000	4740.00

Date Printed: Aug 15, 2025 Page: 6 FORM ID: WV-PRC-SR-001 2020/05

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Extended Description:**

3.2.4.4 Adobe Photoshop CC- Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
25	Adobe Premiere Pro CC - Renewal, Yr 2	10.00000	EA	474.000000	4740.00

Comm Code	Manufacturer	Specification	Model #	
43232100				
1.0202.00				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.5 Adobe Premiere Pro CC - Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

Li	ne	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
26		Adobe Creative Cloud All Apps - Renewal, Yr	30.00000	EA	1140.000000	34200.00
		3				

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.1 Adobe Creative Cloud All Apps - renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
27	Adobe Acrobat Pro DC - Renewal, Yr 3	425.000	00 EA	166.000000	70550.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.2 Adobe Acrobat Pro DC - Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
28	Adobe Stock (10 Assets) - Renewal, Yr 3	5.00000	EA	314.000000	1570.00
20	Adobe Stock (10 Assets) - Reflewal, 11 3	5.00000	EA	314.000000	1370.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

# **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.3 Adobe Stock (10 Assets) - Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Date Printed: Aug 15, 2025 Page: 7 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
29	Adobe Photoshop CC - Renewal, Yr 3	10.00000	EA	474.000000	4740.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Extended Description:**

3.2.4.4 Adobe Photoshop CC- Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
30	Adobe Premiere Pro CC - Renewal, Yr 3	10.00000	EA	474.000000	4740.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.5 Adobe Premiere Pro CC - Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
31	Adobe Creative Cloud All Apps - Renewal, Yr	30.00000	EA	1140.000000	34200.00
	4				

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.1 Adobe Creative Cloud All Apps - renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
32	Adobe Acrobat Pro DC - Renewal, Yr 4	425.000	000 EA	166.000000	70550.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.2 Adobe Acrobat Pro DC - Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
33	Adobe Stock (10 Assets) - Renewal, Yr 4	5.00000	EA	314.000000	1570.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

Date Printed: Aug 15, 2025 Page: 8 FORM ID: WV-PRC-SR-001 2020/05

#### **Extended Description:**

3.2.4.3 Adobe Stock (10 Assets) - Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
34	Adobe Photoshop CC - Renewal, Yr 4	10.00000	EA	474.000000	4740.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

#### **Commodity Line Comments:**

# **Extended Description:**

3.2.4.4 Adobe Photoshop CC- Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
35	Adobe Premiere Pro CC - Renewal, Yr 4	10.00000	EA	474.000000	4740.00

Comm Code	Manufacturer	Specification	Model #	
43232100				

# **Commodity Line Comments:**

#### **Extended Description:**

3.2.4.5 Adobe Premiere Pro CC - Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

Date Printed: Aug 15, 2025 Page: 9 FORM ID: WV-PRC-SR-001 2020/05

#### EXHIBIT A - PRICING PAGE

Open End Contract - Adobe Software Licenses									
		Unit Cost							
	Specification	Description	Quantity*	Year 1 Award - 6/24/26	Year 2 6/25/26 - 6/24/27	Year 3 6/25/27 - 6/24/28	Year 4 6/25/28 - 6/24/29	Extended Cost	
	3.1.6.1	Adobe Creative Cloud All Apps- New License*	5	\$950.00	\$1,140.00	\$1,140.00	\$1,140.00	\$21,850.00	
	3.1.6.2	Adobe Acrobat Pro DC - New License*	30	\$138.00	\$166.00	\$166.00	\$166.00	\$19,080.00	
NEW LICENSES	3.1.6.3	Adobe Stock (10 Assets) - New License*	2	\$262.00	\$314.00	\$314.00	\$314.00	\$2,408.00	
	3.1.6.4	Adobe Photoshop CC - New License*	4	\$395.00	\$474.00	\$474.00	\$474.00	\$7,268.00	
	3.1.6.5	Adobe Premiere Pro CC - New License*	2	\$395.00	\$474.00	\$474.00	\$474.00	\$3,634.00	
	3.2.4.1	Adobe Creative Cloud All Apps- Renewal*	30		\$1,140.00	\$1,140.00	\$1,140.00	\$102,600.00	
	3.2.4.2	Adobe Acrobat Pro DC - Renewal*	425		\$166.00	\$166.00	\$166.00	\$211,650.00	
RENEWALS	3.2.4.3	Adobe Stock (10 Assets) - Renewal*	5		\$314.00	\$314.00	\$314.00	\$4,710.00	
	3.2.4.4	Adobe Photoshop CC - Renewal*	10		\$474.00	\$474.00	\$474.00	\$14,220.00	
	3.2.4.5	Adobe Premiere Pro CC - Renewal*	10		\$474.00	\$474.00	\$474.00	\$14,220.00	
						TOTAL AMOU	NT OF BID →	\$401,640.00	
No future use o	* Quantities listed for licenses is an estimated purchase volume. The estimated purchase volume for licenses represents the approximate volume of anticipated purchases only.  No future use of the Contract or any individual item is guaranteed or implied.  If unable to provide pricing for future years, the vendor shall indicate this as a unit cost of "\$0" and provide comments accordingly.								
		Kendrick Tan  Vendor Signature		Comments:					



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia Centralized Request for Quote Info Technology

**Proc Folder:** 1741827

Doc Description: Adobe Software Products (81260009)

**Reason for Modification:** 

Addendum No 1

Vendor Questions and responses

Proc Type: Central Master Agreement

Date Issued Solicitation Closes Solicitation No Version

2025-07-29 2025-08-14 13:30 CRFQ 0803 DOT2600000006 2

#### **BID RECEIVING LOCATION**

**BID CLERK** 

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION 2019 WASHINGTON ST E

CHARLESTON WV 25305

US

#### **VENDOR**

Vendor Customer Code: VS0000047401

**Vendor Name:** Tech Advanced Computers, Inc.

Address: 1508 Creighton Road, Pensacola, Florida 32504

Street: 1508 Creighton Road

City: Pensacola

State: Florida Country: USA Zip: 32504

Principal Contact: Kendrick Tan

Vendor Contact Phone: (850) 221-0382 Extension:

#### FOR INFORMATION CONTACT THE BUYER

John W Estep 304-558-2566

john.w.estep@wv.gov

Vendor Signature X

FEIN# 59-3362656 DATE 8/14/2025

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Jul 29, 2025 Page: 1 FORM ID: WV-PRC-CRFQ-002 2020/05

#### **ADDITIONAL INFORMATION**

ADDENDUM NO\_1

Addendum No\_1 issued to publish and distribute the attached information to the Vendor community

#### REQUEST FOR QUOTATION:

The West Virginia Purchasing Division is soliciting bids on behalf of the West Virginia Department of Transportation (WVDOT) to establish an opened contract to purchase new licenses for Adobe Software Products as well as future annual renewals for these licenses. Per the Bid Requirements, Specifications, Terms and Conditions attached to this solicitation.

INVOICE TO		SHIP TO			
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION			
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720			
CHARLESTON US	WV	CHARLESTON US	WV		

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
1	Adobe Creative Cloud All Apps - new license	5.00000	EA	\$950.00	\$4,750.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

#### **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - new license

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD E BLD. 5 RM-720	Ξ,	1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON US	WV

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Adobe Acrobat Pro DC - new licenses	30.00000	EA	\$138.00	\$4,140.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

#### **Extended Description:**

3.1.6.2 Adobe Acrobat Pro DC - new licenses

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
3	Adobe Stock(10 Assets) - new license	2.00000	EA	\$262.00	\$524.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

3.1.6.3 Adobe Stock (10 Assets) - new license

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
4	Adobe Photoshop CC - new licenses	4.00000	EA	\$395.00	\$1,580.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

# **Extended Description:**

3.1.6.4 Adobe Photoshop CC - new licenses Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD BLD. 5 RM-720	Ε,	1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Adobe Premiere Pro CC - new licenses	2.00000	EA	\$395.00	\$790.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

3.1.6.5 Adobe Premiere Pro CC - new licenses

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	Adobe Creative Cloud All Apps - new license, Yr 2	5.00000	EA	\$1,140.00	\$5,700.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

# **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - New License, Year 2 Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	Adobe Acrobat Pro DC - new license, Yr 2	30.00000	EA	\$166.00	\$4,980.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

3.1.6.2 Adobe Acrobat Pro DC - new license. Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPOR	TATION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD BLD. 5 RM-720	Ε,	1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
8	Adobe Stock (10 Assets) - new license, Yr 2	2.00000	EA	\$314.00	\$628.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

# **Extended Description:**

3.1.6.3 Adobe Stock (10 Assets) - new license, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
9	Adobe Photoshop CC - new license, Yr 2	4.00000	EA	\$474.00	\$1,896.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

3.1.6.4 Adobe Photoshop CC- new license, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E BLD. 5 RM-720	,	1900 KANAWHA BLVD E, BLD. 5 RM-720
0.1151.50501		01145150701
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	<b>Unit Issue</b>	<b>Unit Price</b>	Total Price
10	Adobe Premiere Pro CC - new license, Yr 2	2.00000	EA	\$474.00	\$948.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

# **Extended Description:**

3.1.6.5 Adobe Premiere Pro CC - new license, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTAT 1900 KANAWHA BLVD E, BLD. 5 RM-720	ION	DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON US	WV	CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
11	Adobe Creative Cloud All Apps - new license,	5.00000	EA	\$1,140.00	\$5,700.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

3.1.6.1 Adobe Creative Cloud All Apps - New License, Year 3
Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
12	Adobe Acrobat Pro DC - new license, Yr 3	30.00000	EA	\$166.00	\$4,980.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

# **Extended Description:**

3.1.6.2 Adobe Acrobat Pro DC - new license. Year 3 Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT	TATION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD BLD. 5 RM-720	Ε,	1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
13	Adobe Stock (10 Assets) - new license, Yr 3	2.00000	EA	\$314.00	\$628.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

3.1.6.3 Adobe Stock (10 Assets) - new license, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E BLD. 5 RM-720	,	1900 KANAWHA BLVD E, BLD. 5 RM-720
0.1151.50501		01145150701
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
14	Adobe Photoshop CC - new license. Yr 3	4.00000	EA	\$474.00	\$1,896.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

# **Extended Description:**

3.1.6.4 Adobe Photoshop CC- new license, Year 3 Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT	TATION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD BLD. 5 RM-720	Ε,	1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
15	Adobe Premiere Pro CC - new license, Yr 3	2.00000	EA	\$474.00	\$948.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

3.1.6.5 Adobe Premiere Pro CC - new license, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	TION	DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON US	WV	CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
16	Adobe Creative Cloud All Apps - new license, Yr 4	5.00000	EA	\$1,140.00	\$5,700.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

# **Extended Description:**

3.1.6.1 Adobe Creative Cloud All Apps - New License, Year 4 Quantity is an estimation and could be increased or decreased depending on need.

 Date Printed:
 Jul 29, 2025
 Page: 9
 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
17	Adobe Acrobat Pro DC - new license, Yr 4	30.00000	EA	\$166.00	\$4,980.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

3.1.6.2 Adobe Acrobat Pro DC - new license. Year 4

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E BLD. 5 RM-720	,	1900 KANAWHA BLVD E, BLD. 5 RM-720
0.1151.50501		01145150701
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
18	Adobe Stock (10 Assets) - new license, Yr 4	2.00000	EA	\$314.00	\$628.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

# **Extended Description:**

3.1.6.3 Adobe Stock (10 Assets) - new license, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

 Date Printed:
 Jul 29, 2025
 Page: 10
 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTAT	ION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
19	Adobe Photoshop CC - new license. Yr 4	4.00000	EA	\$474.00	\$1,896.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

3.1.6.4 Adobe Photoshop CC- new license, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E BLD. 5 RM-720	,	1900 KANAWHA BLVD E, BLD. 5 RM-720
0.1151.50501		01145150701
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
20	Adobe Premiere Pro CC - new license, Yr 4	2.00000	EA	\$474.00	\$948.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

# **Extended Description:**

3.1.6.5 Adobe Premiere Pro CC - new license, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTAT 1900 KANAWHA BLVD E, BLD. 5 RM-720	ION	DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON US	WV	CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
21	Adobe Creative Cloud All Apps - Renewal, Yr 2	30.00000	EA	\$1,140.00	\$34,200.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

3.2.4.1 Adobe Creative Cloud All Apps - renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
22	Adobe Acrobat Pro DC - Renewal, Yr 2	425.00000	EA	\$166.00	\$70,550.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

# **Extended Description:**

3.2.4.2 Adobe Acrobat Pro DC - Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

 Date Printed:
 Jul 29, 2025
 Page: 12
 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
23	Adobe Stock (10 Assets) - Renewal, Yr 2	5.00000	EA	\$314.00	\$1,570.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

3.2.4.3 Adobe Stock (10 Assets) - Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
24	Adobe Photoshop CC - Renewal, Yr 2	10.00000	EA	\$474.00	\$4,740.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

# **Extended Description:**

3.2.4.4 Adobe Photoshop CC- Renewal, Year 2 Quantity is an estimation and could be increased or decreased depending on need.

FORM ID: WV-PRC-CRFQ-002 2020/05 Date Printed: Jul 29, 2025 **Page:** 13

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORTATIO	N	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON	WV	CHARLESTON	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
25	Adobe Premiere Pro CC - Renewal, Yr 2	10.00000	EA	\$474.00	\$4,740.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

3.2.4.5 Adobe Premiere Pro CC - Renewal, Year 2

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E BLD. 5 RM-720	,	1900 KANAWHA BLVD E, BLD. 5 RM-720
0.1151.50501		01145150701
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
26	Adobe Creative Cloud All Apps - Renewal, Yr 3	30.00000	EA	\$1,140.00	\$34,200.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

# **Extended Description:**

3.2.4.1 Adobe Creative Cloud All Apps - renewal, Year 3 Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
27	Adobe Acrobat Pro DC - Renewal, Yr 3	425.00000	EA	\$166.00	\$70,550.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

3.2.4.2 Adobe Acrobat Pro DC - Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
28	Adobe Stock (10 Assets) - Renewal, Yr 3	5.00000	EA	\$314.00	\$1,570.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

# **Extended Description:**

3.2.4.3 Adobe Stock (10 Assets) - Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

 Date Printed:
 Jul 29, 2025
 Page: 15
 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
29	Adobe Photoshop CC - Renewal, Yr 3	10.00000	EA	\$474.00	\$4,740.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

3.2.4.4 Adobe Photoshop CC- Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E BLD. 5 RM-720	,	1900 KANAWHA BLVD E, BLD. 5 RM-720
0.1151.50501		01145150701
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
30	Adobe Premiere Pro CC - Renewal, Yr 3	10.00000	EA	\$474.00	\$4,740.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

# **Extended Description:**

3.2.4.5 Adobe Premiere Pro CC - Renewal, Year 3

Quantity is an estimation and could be increased or decreased depending on need.

 Date Printed:
 Jul 29, 2025
 Page: 16
 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTAT 1900 KANAWHA BLVD E, BLD. 5 RM-720	ION	DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON US	WV	CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
31	Adobe Creative Cloud All Apps - Renewal, Yr 4	30.00000	EA	\$1,140.00	\$34,200.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Creative Cloud All Apps	65310110BC06F12

3.2.4.1 Adobe Creative Cloud All Apps - renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION	N
1900 KANAWHA BLVD E,		1900 KANAWHA BLVD E,	
BLD. 5 RM-720		BLD. 5 RM-720	
CHARLESTON	WV	CHARLESTON	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
32	Adobe Acrobat Pro DC - Renewal, Yr 4	425.00000	EA	\$166.00	\$70,550.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Acrobat Pro DC	65324113BC06A12

# **Extended Description:**

3.2.4.2 Adobe Acrobat Pro DC - Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

 Date Printed:
 Jul 29, 2025
 Page: 17
 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO
DEPT. OF TRANSPORTAT	ION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
33	Adobe Stock (10 Assets) - Renewal, Yr 4	5.00000	EA	\$314.00	\$1,570.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Stock (10 Assets)	65270600BC06A12

3.2.4.3 Adobe Stock (10 Assets) - Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORT 1900 KANAWHA BLVD BLD. 5 RM-720		DEPT. OF TRANSPORTATION 1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
34	Adobe Photoshop CC - Renewal, Yr 4	10.00000	EA	\$474.00	\$4,740.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Photoshop CC	65309771BC06E12

# **Extended Description:**

3.2.4.4 Adobe Photoshop CC- Renewal, Year 4 Quantity is an estimation and could be increased or decreased depending on need.

FORM ID: WV-PRC-CRFQ-002 2020/05 Date Printed: Jul 29, 2025 **Page:** 18

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD BLD. 5 RM-720	) E,	1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
35	Adobe Premiere Pro CC - Renewal, Yr 4	10.00000	EA	\$474.00	\$4,740.00

Comm Code	Manufacturer	Specification	Model #
43232100	Adobe	Premier Pro CC	65310002BC06E12

3.2.4.5 Adobe Premiere Pro CC - Renewal, Year 4

Quantity is an estimation and could be increased or decreased depending on need.

# **SCHEDULE OF EVENTS**

<u>Line</u>	<u>Event</u>	Event Date
1	Tech Questions due by 10:00am	2025-08-05

 Date Printed:
 Jul 29, 2025
 Page: 19
 FORM ID: WV-PRC-CRFQ-002 2020/05

	Document Phase	Document Description	Page 20
DOT2600000006		Adobe Software Products ( 81260009)	

# ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions